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(The power of a number shows you how many times to use the number in a
multiplication.

It is written as a small number to the right and above the base number.

In this example: 8°=8x8=64

Another name for power is index or exponent )

[ www.mathsisfun.com/definitions/index-power ]
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(6" can be read as: b raised to the n-th power, b raised to the power of n, or

possibly b raised to the exponent of n, most briefly as b to the n. Some exponents have

their own pronunciation: for example, b is usually read as b squared and b’ as b cubed.)

[http://en.wikipedia.org/wiki/Exponentiation]
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[ The exponent is usually shown as a superscript to the right of the base.

The power b" can be defined also when n is a negative integer, for nonzero b.

No natural extension to all real b and n exists, but when the base b is a positive real

number. - http://en.wikipedia.org/wiki/Exponentiation ]

[ A subscript or superscript is a number, figure, symbol that appears smaller than the
normal line of type and is set slightly below or above it — subscripts appear at or below
the baseline, while superscripts are above.

http://en.wikipedia.org/wiki/Subscript_and_superscript ]
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